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QUESTION 1

Using a base-supplied algorithm type, what is payment distribution priority typically determined by? 

A. Customer Class and Service Agreement Type 

B. Payment Type + Debt Age 

C. Debt Age 

D. Service Agreement Type\\'s Priority and Debt Age 

E. Customer Class and Debt Age 

Correct Answer: E 

 

QUESTION 2

What Service Order activity types does the application include? 

A. Start Service; Stop Service; Cut for Non-Payment; Reconnect Service for Payment; Exchange Meter; Move-In/Move-
Out Service 

B. Start Service; Stop Service; Install Meter; Remove Meter; Exchange Meter; Move-In/Move-Out Service 

C. Enable Service; Disable Service; Install Meter; Remove Meter; Exchange Meter; Back-to-Back Service 

D. Enable Service; Disable Service; Cut for Non-Payment; Reconnect Service for Payment; Exchange Meter; Back-to-
Back Service 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf 

(162) 

 

QUESTION 3

You are configuring a VEE group to include rules to be executed when loading the initial measurement data (IMD). 

What is the VEE group directly associated with? 

A. Device Type and Measuring Component Type 

B. Measuring Component Type 

C. Device Type 

D. Usage Type 

E. Device Configuration Type 
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Correct Answer: E 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (151 152) 

 

QUESTION 4

The base package usage transaction business object is represented by D2-UsageTransaction. The usage calculation
engine or process drives the specifics of the usage to be calculated on this business object. 

Based on this, which three configuration areas will have an impact on the usage calculation process? (Choose three.) 

A. VEE rule 

B. TOU map 

C. Usage Rule 

D. Factor Override 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf 

 

QUESTION 5

On which three entities can proration be disabled? (Choose three.) 

A. Calculation Rule Business Object 

B. Bill Factor 

C. Calculation Rule 

D. Rate Version Calculation Group 

E. Rate Schedule 

Correct Answer: ADE 
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